ECN5402-Advanced Micro Theory

EXAM One




NAME __________________________

Dr. Ali Moshtagh

Answer the following questions completely and neatly.  All answers must be supported by discussions and/or mathematical procedures.

1.


2.
An Income Consumption Curve is defined as a set of combinations of goods corresponding to constrained utility maximization solutions for different levels of money income, while holding the prices of the goods constant.  Please help Paul with the development of his Income Consumption Curve using the following information.  Paul is the third grader who likes only Twinkies (T) and Orange Slice (S), and these provide him a utility of

Utility = U(T, S) = T0.5S0.5
Assumption # 1:  Twinkies cost $0.10 each and Slice costs $0.25 per can.  Paul spends the $1 his mother gives him in order to maximize his utility.

Assumption # 2:  Paul’s mother increases his allowance to $2 per day.

Assumption # 3:  Paul’s mother increases his allowance to $3 per day.

Label the graph carefully and mark the optimal quantities of T and S on the graph.

3.


4.
 Mary Ann has the following utility function

Utility = U(X, Y) = X0.3Y0.7
where X and Y represent units of goods X and Y, respectively.  She spends all of her money income, I = $100, on the two goods where the unit prices of X and Y are, Px = $2, and Py = $2.   Use the Lagrangian Multiplier Method to determine the optimal quantities of X and Y and the corresponding level of utility.  Suppose the government decides to assist Mary Ann by subsidizing her purchases of good X so that the effective price is now Px = $1 for her.  Compute the utility-maximizing levels of X and Y, along with the associated level of utility received by Mary Ann.  What is the total amount of subsidy?

5.
For some odd reason, Mary Ann’s utility function changed to

Utility = U(X, Y) = X0.5 + Y0.5

where X and Y represent units of goods X and Y, respectively.  Mary Ann spends all of her money income, I = $100, on the two goods where the unit prices of X and Y are, Px = $2, and Py = $2.   Use the Lagrangian Multiplier Method to determine the optimal quantities of X and Y and the corresponding level of utility.  Derive the Marshallian demand functions for goods X and Y.  Are the two demand functions homogeneous of degree zero in all prices and income?  Explain.

Suppose Px goes up to $3 per unit.  Use the minimum expenditure function (or the compensated demand function) to determine how much extra money income Mary Ann needs to maintain the same level of utility she received before the price increase.  How many units of X and Y will she purchase now?

